
D ef en s i v e  a n d  C o m p e ti t i v e  B i d d i n g   L ea d s  a n d  Si g n a l s   W. B . F .  C o n v en ti o n  C a r d  
O v e rc a l l s   O p en i n g  L ea d  S ty l e   

C a t e go ry :  
N C B O :  
P l a y e rs :  

O p e n  
N Z  B r i d g e  
T  S c h u m a c h e r  &  J a n e  L e n n o n  

G o o d  su i t s  a b o v e  t h e  o n e  l e v e l  
 
 
 
 
 

  L e a d  I n  P a r t n e r ’ s  Su i t   
 Su i t  3 r d  &  5 t h  3 r d  &  5 t h   
 N T  A t t i t u d e  3 r d  &  5 t h   
 Su b s e q u e n t  Re s id u a l  3 r d  &  5 t h    
 

O t h e r :  
 

  
1 N T  O v e r c a l l   L ea d s   S y s t e m  S u m m a r y  
2 n d :  ( 1 5 )  1 6  –  1 8 ,  sy s t e m  o n  
 
4 t h :  1 1  –  1 4 ,  sy s t e m  o n  
 

  V s .  Su i t  V s .  N T   
2/ 1   A c e  A ,  A K    

 K in g  K ,  K Q ,  K x    
 Q u e e n  K Q ,  Q J ,  Q x     

Su i t s :  5 ,  5 ,  4 ,  2 .  
 
1 N T :  1 5  –  1 7  
 
 
 
 
 

J u m p  O v er c a l l s   J a c k  J T ,  J x    

I n t e r m e d ia t e  
 
 

 1 0  T 9,  T x    
 9  Do u b l e t o n  T o p  o f  n o t h in g   
 H i - X  Do u b l e t o n  T o p  o f  n o t h in g   
 L o - X  3 r d  &  5 t h  3 r d  &  5 t h   

D i re c t  &  J u m p  C u eb i ds   S i gn a l s  I n  O rd er  O f  P r i o r i ty   
Sp a d e  M ic h a e l s  –  In t e r m e d i a t e  +  
Un u s u a l  2 N T  –  I n t e r m e d ia t e  +  
 
 

  P a r t n e r ’ s  De c l a r e r ’ s  Di s c a r d in g   
 Su i t  1  A Q =r e v  A t t  Re v  c o u n t  Re v  A t t   S p ec i a l  B i d s  T h a t  M a y  R e qu i r e  D ef en c e  
 2  Re v  c o u n t  Re v  c o u n t  Re v  c o u n t   2♢ :  we a k  2  in  m a jo r  

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 3      
V s .  N T   N T  1  s a m e  Sm it h  p e t e r  Re v  A t t   

W e a k  X  =  1 6 + ,  St r o n g  X  =  m in o r s  
2♣= L a n d y  
2♢  =  W e a k  M  R e sp o n se  p e r  M u lt i  
2♡/♠  =  5 +M  

 2   Re v  c o u n t    
 3      
 

S i g n a l s  ( in c lu d i n g  t r u m p s ) :  U DC A  
S m i th  P e te r s  a ga i n s t  N T  

 
  
  

V s .  P r e em pt s     
M u lt i  2 :  O / c a l l  u p t o  1 6,  2 N T  =  1 6 - 1 8 ,  X  1 7 + o r  
1 3 - 1 5  n o  l o n g  s u it s .  Le b e n s o h l  ( 2M ) X ( P )  o r  
1 N T ( 2M )  o n ly  c a s e s  

 D o u b l es   
 T a k e o u t  D o u b l es  ( Sty l e;  Re s p o n s es ;  R eo p e n i n g )   
 

 

 
V s .  A r t i f i c i a l  S t ro n g  O p e n i n gs    
A g a in s t  1♣16+ N T  =  a n y  t w o  su i t s  
1 4 + X  =  M ,  1 N T  =  m ,  b i d  a t  1  l e v e l  
c o n st r u c t iv e ,  a n d  2  l e v e l  w e a k  
 

  
  S p ec i a l  Fo r ci n g  P a s s  S eq u e n c e s  
 S p ec i a l ,  A rt i f i c i a l  &  C o m pe ti t i v e  D o u b l es  &   

 
 

 

 
O v e r  O p po n en ts ’  T a k eo u t  D o u b l e    

X X  =  1 0 +  
 
 
 
 
 

  
  

  

P s y ch i c s  

Un c o m m o n  
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Descr ip t ion  Resp onses  Su bse qu e nt  Act i o ns  
Pass

ed 
Ha nd  

1♣ √ 2 4♡  

 
11 –  20  
(cou ld  be 
4432)  

1♢ /♡  t ransfer  to ♡ /♠  1♠ =  6-10 or  5-7  6+♢ or GF 5+ ♢ 
1NT=11-12 ,  Inver ted  GF 

2♢ /♡ /♠  8 -11,  6+ cards 2NT 16+  

(1♢) X→♡ ,  1♡→♠, 1♠→as above,  2♣ Nat ,  2♢ st rong wi th  ♣ 

(1♡) X→♠,1♠→as above,  then Acol  s ty le  wi th  2♡ strong with ♣ 
(1♠)  X = T/O then  as above  

Accept  compulsory wi th 3+ 
Natural ,  su i ts  up the l ine  
Af ter  inver ted GF,  natu ra l  4 card M 
but  2♢ rebid is  f la t  wi th  shor t  ♣,  and 
2NT is  wi th  4+ ♣.  
2-way checkback 
 

 

1♢   4 4♡  11 –  20  
Inver ted GF 
2♡ /♠  =  8-11,  6+ card su i t ,  1M then 2M is  now < 8  

Af ter  1x 1y 1NT,  a lways  2-way 
checkback.  
 

 

1♡   5 4♢  11 –  20  
1NT = 5  –  11 (12)   
2su i t  =  12+ natu ral ,  GF  
2NT GF 4+ t rumps.  Jump in  o ther  major  3  card 11-12 
Af ter  1♡ or 1♠,  3♣ 6-9  4+ t rumps, 3♢  11-12  4+ invi t ,  3M weak 
ra i se ,  3♠+ sp l in te r  GF 
3NT 13-15  ba l  

1M -  1NT -  2♣ is  Gazi l l i .  Shows 16+  
or  ♣s .  2♢  shows  9-12.  So 1M-1NT-3m 
shows 5 /5 and <  16.  Af ter  2NT 
3x =  shor tage min,  3M bet ter  & f la t ,  
3NT f la t  18/19.  4♣♢  other  M spl in ter .  
3NT W eak Slam Try.  
 

 

1♠  5  4♡  11 –  20  

1NT  -  3♠ 

 
15 –  17  
 

2♠ Invi te  ba l  or  Xfe r  to ♣  (6+) ,  2NT Xfer  to  ♢ (6+) ,  3♣ puppet,  

3♢  =  GF minors,  3♡ /♠  (13)(45)  

2♢ /♡ ,  4♣/♢  =  Xfer  to  ♡ / ♠  and 4♡ /♠  to  p lay  

2♠ then 2NT min and 3♣ max,  then  
3x is  GF shor tage.  
1NT 2NT 3♣ = l i kes ♢,  3♢, 3M is  GF 
shor tage     
Trans fer  and b id = s lam in terest  

 

2♣ 
 

2♢  
 

2♡  
 

2♠ 

√ 
 

√ 
 
 
 
 

-  
 
-  
 
 
 

 

Natural  GF 
 
Weak 2  in 
major  
 
5  ♡  4+m 
 
5  ♠ 4+m 

 
2NT inqui ry,  s tandard mul t i  responses  
 
2NT asks  
 
 

 
 
 
 
3♣/♢  good weak 2  
 
3minor  = min wi th  that  m inor  
3Major  = max wi th  corresponding 
minor  

 

2NT  -  4♡  20 –  22  Puppet ,  t rans fers ,  3♠  minor  s tayman   

3   -  none Natural  High Level  Bidding:  

3NT 
 

4♣♢♡
♠ 

 

 

-  
 
-  
 
-  

 

7  sol id  minor ,  
noth ing outs ide  
 
Natural  
 
 

RKCB:  1430 Over i nter fe rence,  Pass  is  1 s t  s tep (14) ,  X is  2n d  s tep (30) .  Over  X,  Pass 1 s t  s tep,  XX 2 n d  s tep.  
Cue 1 s t  & 2n d  round cont ro ls .  
 
 
 


